

			Vendor Ranking		Page 1 of 1
Letting:	04190802	August 02, 2019 10:30 AM	Call Order: 002	Contract:	E4T81-R0
District:	District 4		Counties: PALM BEACH	Fed Aid No): N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	43622037201 (*)
Contract Decay					

Contract Desc: PALM BEACH COUNTY PRESSURE CLEANING AND COATING - MAINT

Ranl	K Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T.T.C. ENVIRONMENTAL, INC.	Responsive	Winning bid	\$72,500.00	100.00%
2	P&P CONTRACTING, INC.	Responsive	Non-Winning Bid	\$75,000.00	103.45%
3	HIGHSTYLE ENGINEERING AND CONST	Responsive	Non-Winning Bid	\$75,000.00	103.45%
4	SL MULTIPRO LLC	Responsive	Non-Winning Bid	\$85,000.00	117.24%
5	HOME CARE PRESSURE CLEANING, LL	Responsive	Non-Winning Bid	\$87,500.00	120.69%
6	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$120,000.00	165.52%
7	DEANGELO BROTHERS LLC DBA AQUAG	Responsive	Non-Winning Bid	\$137,500.00	189.66%
8	LEON AMERICA CONSTRUCTION LLC	Responsive	Non-Winning Bid	\$147,500.00	203.45%
9	T & M LAWN-FENCE SERVICE INC	Non Responsive	Non-Winning Bid	\$200,000.00	275.86%
10	EXTREME SANDBLASTING AND PAINTING, INC.	Responsive	Non-Winning Bid	\$1,200,000.00	1655.17%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED	BEGIN DATE:	08/20/19	BEGIN TIME:	10;30 AM
	END DATE:	08/23/19	END TIME:	10:30 AM



Page 1 of 5

Letting:	04190802	August 02, 2019	Call Order:	002	Contract: E4T81-R0
District:	District 4		Counties:	PALM BEACH	Fed Aid No: N/A
Contract Time:	365 CALEND	DAR DAYS			Project(s): 43622037201 (*)

Contract Descr: PALM BEACH COUNTY PRESSURE CLEANING AND COATING - MAINT

The work under this Contract consists of pressure cleaning and/or pressure cleaning and coating concrete surfaces such as: concrete barrier walls, sound walls, reinforced/retained earth wall faces and bridge components on the State Highway System in Palm Beach County.

MAXIMUM LIMITING: The award amount and contract performance bond shall be based on the maximum limiting budget amount of \$100,000.00 and not the contractor's bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Award of this contract is contingent upon Annual Legislative Budget Approval of Fiscal Year 2020 funds.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) T.T.C. ENVI INC	· · ·	(2) P&P CONTR	ACTING, INC.	``	E ENGINEERING CONST
() indicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	GRAFFITI REM	IOVAL (SF)					
0005 0400143 CLEANING & COATIN SURFACE, CLASS 5		250,000.000 SF	0.15000	37,500.00	0.15000	37,500.00	0.15000	37,500.00
0010 0400145 CLEANING CONCRET		250,000.000 SF	0.14000	35,000.00	0.15000	37,500.00	0.15000	37,500.00
0001 GRAFFITI REM	IOVAL (SF) Sec	ction Totals:		\$72,500.00		\$75,000.00		\$75,000.00

Contract Grand Totals:

\$72,500.00

\$75,000.00

75,000.00



Page 2 of 5

Letting:	04190802	August 02, 201	9 Ca l	I Order: 002		Contract:	E4T81-R0	
Line No / Iter Item Descrip		ate Quantity Units	(4) SL MULT	TIPRO LLC	(5) HOME CAR CLEANI		CONSULTIN	IANAGEMENT & G OF FLORIDA
() indicates ite	m is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECT	ON: 0001	GRAFFITI REM	IOVAL (SF)					
0005 040014 CLEANING & CO SURFACE, CLA	ATING CONCRE	250,000.000 TE SF	0.17000	42,500.00	0.28000	70,000.00	0.3900	97,500.00
0010 040014 CLEANING COM	5 ICRETE SURFAC	250,000.000 E SF	0.17000	42,500.00	0.07000	17,500.00	0.0900	22,500.00
0001 GRAFFI	I REMOVAL (SF)	Section Totals:		\$85,000.00		\$87,500.00		\$120,000.00

Contract Grand Totals:

\$85,000.00

\$87,500.00

120,000.00



Page 3 of 5

Letting:	04190802	August 02, 201	9 Ca l	I Order: 002		Contract:	E4T81-R0	
Line No / Item Des		te Quantity Units	(7) DEANGELO LLC DBA		(8) LEON A CONSTRUC		· · /	AWN-FENCE ICE INC
() indicate	es item is bid as Lump Sun	ז	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	GRAFFITI REM	OVAL (SF)					
	00143	250,000.000	0.30000	75,000.00	0.34000	85,000.00	0.40000	100,000.00
CLEANING SURFACE, (& COATING CONCRET CLASS 5	re Sf						
	00145	250,000.000	0.25000	62,500.00	0.25000	62,500.00	0.40000	100,000.00
CLEANING	CONCRETE SURFACE	SF SF						
0001 GRA	FFITI REMOVAL (SF)	Section Totals:		\$137,500.00		\$147,500.00		\$200,000.00

Contract Grand Totals: \$137,500.0	0 \$147,500.00	200,000.00
------------------------------------	----------------	------------



Page 4 of 5

Letting:	04190802	August 02, 201	9 Ca l	I Order: 002		Contract:	E4T81-R0	
Line No / Iten Item Descrip		te Quantity Units	(10) EXT SANDBLAS	TING AND				
-	n is bid as Lump Sun		PAINTIN Unit Price	G, INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 0001	GRAFFITI REM	OVAL (SF)					
0005 040014	3	250,000.000	3.60000	900,000.00				
CLEANING & CO SURFACE, CLAS	ATING CONCRET	re sf						
0010 040014	5	250,000.000	1.20000	300,000.00				
CLEANING CON	CRETE SURFACE	E SF						
0001 GRAFFIT	REMOVAL (SF)	Section Totals:		\$1,200,000.00				

Contract Grand Totals:

\$1,200,000.00



			Tabulation of Bids			Page 5 of 5
Letting:	04190802	August 02, 2019	Call Order: 002	Contract:	E4T81-R0	
			to file a protest within the time pres			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.